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TB 2021: Simulations

« Geometry implementation in Geant4

Test-beam setup o
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GaAs sensor aka Anton1
«  Rectangular shape

. Xdimension: £ =4,7mm*15 (pad) + 0,3mm*14(gap) = 70,5mm + 4,2mm = 74,7 mm
. Y dimension: ¢=4,7mm*10(pad) +0,3mm*9(gap) = 47mm + 2,7mm = 49,7 mm
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TB 2021: Simulations

Geometry visualization in Geant4

Test-beam setup Anton1 sensor

viewer-0 (OpenGLStoredQt)
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TB 2021: Simulations
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TB 2021: Simulations
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TB 2021: Simulations

« Energy deposition on pads 0 -19
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Energy deposition on pads 20 - 39

Edep {Pad == 20}

Edep {Pad == 25}

Edep {Pad == 30}

Edep {Pad == 35}

08

as

a4

oz

Sid Dew

THiES

e
St Dewe

Eniie

Mear
Sid Dew

TB 2021: Simulations
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TB 2021: Simulations
« Energy deposition on pads 40 -59
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TB 2021: Simulations
« Energy deposition on pads 60 -79

Edep {Pad == 60} Edep {Pad == 61} Edep {Pad == 62} Edep {Pad == 63} Edep {Pad == 64}
| T — | i - hZ @ | I — | i
B Bl i Bl Enies T B Toes 218 10 Tres 6%
Moan  ©.005802 Moan 0.08536 e F Mean 43708 ean 03655
51 Dow St Dow o = Sid Dev o L Sig Dew 4.1543 180f- Sid Dev 151
25—
asf- as [ E £ 1aaf
E ES 120f-
asf- as [ E
£ 1eaf-
E e
£ kb
04— adl- E E
wk af
ozl azf - 5; awf
= £ af-
P I R BRI R I P S R TR B | PN NI B E onon o S oo flapl 1 P Loaglan Lo bon bl
T L T T 1 T [0 1 T T T O S T 1 T F ¥R Y- N - S R B3 3
voobicacbocac oo boeo boccc bocc beven Lo boan
Edep {Pad == 65} Edep {Pad == 66} F Edep {Pad == 67} Edep {Pad == 68} F Edep {Pad == 69}
] { SR | = e ¥ — T E
Trres 09 = Trees 199 Trmes T = Trries 7 TS
Mean 0377 Mean 03617 Wean 0 E Mean 1486 Wean 0
500 Sid Dew 3.2079 il = Sid Dev {.1223 P Sid Dev. o L Sid Dew 0 = Sl Derv 0
= as[ P
<00 [
3 asl E
ana B : o
E asf E
200 =
100 “2:_
e 2 e b -
voocbicacbocac bocod oo boccc bocc beven Lo boan vocchovoc b bococboooc oo oo oo boee b
[ 3 Edep {Pad == 71} 3 Edep {Pad == 72} Edep {Pad == 73} Edep {Pad == 74}
E E E b 3] - B
Eniries. ] Pr= Entries. 205 Eniries. 1024
Mean ] E Mean  .353d4 Mean 03659
= F - Sid Dew g 20 d Dew_0.1214 - Sid Dev_0.1423
L P = wEk 140f
o3 1eaf-
- F E wE
E 100
E E E 12
'[-E— anf-
E E E O3 af
L= — — L=
K awf
«F
2 E - b ﬂ af-
= E = =1 A A L n nnnn[lhn | 0. 1 L | ] 1 L L
T T 5 03 T T2 B - S ¥ B - B R R F R
IR R TR RER RS FEEEY FRTE RN FEREE NN AR R T RN NN RN ER Y AR Y PR AR N v bicocbocc boco e bococ bococ beven b boan
Edep {Pad == 75 Edep {Pad == 78 Edep {Pad == 77 F Edep {Pad == 78 F Edep {Pad == 79
P } pl — o . F pl ] F ol )
Enres 10T an = Erbies 12 B ‘Enlﬂﬁ j
i Mean  0.3636 Mear  0.343% Mear 016
St Dew_4.1366 Sid Dev_.1143 Sid Dew_0.1532 F F
1k =t 08 E E
toaf- wl 3 i
L3
s e 8 E E
e a4 - -
10 =
- E E
b 0.2
s E =
q 1 L Linl oo ) 1 L ol L L omno . {0l g il a 1 L | L | L E =
L] L] L LE] T K] TE TE a ] L] L3 [E:3 1 T a L L5} [:SE a L] [E}
veccboro boco bocorbovedbovocboroc bocon bocea b voccbovocboa bocoboooc oo oo oo boee b




100

a0

&t

40

20

o

L

o4

oz

25

20

TB 2021: Simulations

Energy deposition on pads 80 - 99
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TB 2021: Simulations

Energy deposition on pads 100 - 119
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« Energy deposition on pads 120 - 139
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TB 2021: Simulations

Energy deposition on pads
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TB 2021: Sensor data
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TB 2021: Sensor data

« Center pads

pads where the beam hit the sensor
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